Central Board of Secondary Education

Question Paper 2016
[Official]

| @

AglaSem
www.schools.aglasem.com



AglaSem Schools

SET -1
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Code No.
JeT . W T TSGR T g TS
Roll No. WA

Candidates must write the Code on
the title page of the answer-book.

o  FHUA ST H A b 37 UA-UF H Higd IS 8 € O 2 IS HHeA & & |

o UYH-UF H IMMe BT I 3R ST T g TR Tl I IW-GRAH & JE&-IL W o |

o FUASIE T A IHTHIRA-TAH 22 TRAG |

o  FHUAT YT HT I feTGT I HIA | UL, UI BT HhHih avd ford |

o U U¥A-UF HI UgH % 1T 15 e F 99 5o T § | U0 S feeT e § 10.15 &S
fopar ST 110,15 S 9 10.30 SN A D AT FRE-UF F UL ST T A & IR F
SRR T IS S el forat |

e Please check that this question paper contains 8 printed pages and 2 pages of maps.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
e Please write down the Serial Number-of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

e (HGTIIh)

GEOGRAPHY (Theory)

e @aa : 3 gue SIfpaT 3w 70
Time allowed : 3 hours Maximum Marks : 70
| 7897 -

() wo# qem22 &1

(i) @ goT stfar & 1

(iii) @ 7971 & G 37 3 T TTE |

(V) 797 9@ 1 @7 a% 3T o7g-STRIT J97 Uab-Uab 31 & & | Jedsh 797 &7 o7 40 151 @
e TE1 81T TIET |
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(V) 797 9= 8 T 13 % o1g-3RIg J97 & | §edah ¥ 3 3% 1 & | §99 G UF goT STEIRe
7o & | 7% 79 %7 3 80 7 100 I3l G iy 7@l AT e’ |

(Vi) 797 @@ 14 T 20 % 31 ST 797 & | 9% J99 &5 b & | 30 T g 9T BT
3150 =51 @ 37 7@l & =Ry |

(vii) 7v7 GEm 21 7 22 grEfaT gt 5eT 5-5 87 & & S w5 77 78 g i
CTEIUTY S U=, [T [ 37 AT dRA § G &

(Viii) TG 37 YR 3 77 77 T@- T FH 9 STR-GIAHT & & T 37T Feel BT |
(iX) E-aHEMT 7917 & 7w @ie areer @Rt & g3 &1 3rgafd 51 S &

General Instructions :
(i)  There are 22 questions in all.
(i)  All questions are compulsory.
(iii) Marks for each question are indicated against it.

(iv) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(v)  Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(vi) Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vii) Question numbers 21-22 are related to identification or locating and labelling of
geographical features on maps carrying.5 marks each.

(viii) Outline maps of the World and ‘India provided to you must be attached within your
answer-book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

1. 7Y GaAT Sl SHEE FEeH & T Fewol Yok Fal HHET A1 § 2 Th RO @y | 1
Why is the age structure considered an important indicator of population
composition ? Give one reason.

2. < Ud W ST SiET 9He [ & Hewequl U € 17 39 % 6 g H ae I | 1

“Leading a long and healthy life is an important aspect of human development.” Give
an argument to support the statement.

3. “T AR % IAihd T2 SHR § 5 e & 17 79 HUF ol TG BT | 1

“Agri-business farms are mechanized and large in size.” Examine the statement.

4, {999 SR TS (.21 37.) Tl HEVUTE! Hi TG HINT | 1
Examine the functioning of World Trade Organisation (WTO).

5. SRIOET 2011 % 3R, YR % Gaigeh Rl &% afet I59 &l AW Ay | 1

Name the state of India with highest literacy rate as per 2011 census.
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6. WRd % YT 9 W HIF T TG TRI-UTH -3765 & ? 1
Which major sea port on the eastern coast of India has a land locked harbour ?

7. 3SR H 9T & G99 92 T I 9F fafEy | 1

Name the state of India with largest area.

8. “UHd 3R ATH MU H T STl ¥ S[E §U & [oh 3¢ Uh-ga § 3TN Tal {ohar ST Fehell
T 17 YA Sl I HINT | 3

“The nature and human beings are so intricately intertwined that they can’t be
separated.” Substantiate the statement.

9. ¥ fRU T g T FTT HifIT 3R IHF A T T U971 o IR [Aray

Aﬂfs

urﬁwaw’iuﬁwr
(9.1) T 7T wrEoT S HfeRRT St TEH ST 3T SHeR A fefEu |
(9.2) &5 g TR & & H T8 UhR % il Haed 3@ i et & 2
(9.3) TH UPR & S UGET h Ueh Hexaqol forerdr feafan | 3x1=3

Study the diagram given below and answer the questions that follow :

Rural Settlement Pattern
(9.1) Identify and name the given rural settlement pattern.
(9.2) In'which type of areas do we find such type of settlement patterns ?
(9.3)  Give an important characteristic of this type of settlement pattern.
e ; FE=fatEd v Fae gieartaa wentemt & fow ue 9@ 9 & ®=|H W E
(9.1)° “TTHITT SEA I16% I URHI HioTT |
(9.2) TH T YR & &1 T YhivT et It & 2
(9.3) VHIUT STt Pl HewerquT Ueh fawivar fefan |
Note : The following questions are for the visually impaired candidates only in lieu
of Q. No.9:
(9.1) Define the term ‘rural settlement’.
(9.2) In which type of areas do we find dispersed settlements ?
(9.3) Give an important characteristic of dispersed settlements.
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10. = ST U g 1 3T iU SR 39F Hi KT MU ueEi & S @

(10.1) =T 3@ H 4T 7T 30T G4 i TeaH HIT 3T 3T T4 fAf@y |
(10.2) =7 T &A1 & 19 fAfaw STt 37 T & ey SiFel SR gAT-IRR i 3 d € |
(10.3) 39 I % o0 SToT 3MYfd & AT I oo RIS | 3x1=3

Study the following diagram and answer the questions that follow :

To Kolkata
250 Km
——

S

River Subarnarekha
Manganese A .

9 < ¥ Sulaipat
Steel Plant k-

Limestone

@*

{r Iron Ore

i
Coal
Railway )

(10.1) Identify and name the steel plant shown in this diagram.

(10.2) Name the mining fields which supply coal and limestone to this plant.
(10.3) Mention the source of water for this plant.
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e ; TG U9 Shaet gieattad adtenterat & fow ueT 9@ 10 & ©H W e

(10.1) SREUS [T H 0 ST Tehighd ST WA o A [oAhay |

(10.2) TE-3TTT 3TN | WIeRT {ohwal Q1 hed Aol & 19 feifaw |

(10.3) g SR ST SENT I STHRYA ST o & H FAT ST ST & 2

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 10.

(10.1) Name the two integrated steel plants located in the state of Jharkhand.

(10.2) Name any two raw materials used in the iron and steel industry.

(10.3) Why is iron and steel industry known as basic industry ?

11, “9Rd " STRRITT o1 o Bl o STANT Hl W~ AT AT Ht JT & 1739 FoF H e
T | 3

“The promotion of the use of non-conventional sources of energy in India is the need
of the hour.” Support the statement.

12, “9Rd H MYMHF TR § ¥ FE TH TR ST 99 | GHad gT & 17 39 FI H FHio
HIT | 3

“Many of the modern towns in India were developed during the period of British
domination.” Substantiate the statement.

13. ‘AHa-sfd i fafay stavaswarst & faw TR e o gaeE & 9§ 3fed &1 9
SUHRA FHAT AT 1”37 Heal bl ST DT S FRIT START T GA1ET & €9 § agei
H eI & ohd § | 3
“The urban waste should be properly treated as a resource for various needs of
mankind.” Explain the values that can help in changing the urban waste into resources.

14, ‘SHifhHE TH T T MU € 2 “STHIhHE GHAU fHga O e &l oo

HITT | 2+3=5
What is ‘demographic cycle’ ? Describe three stages of ‘demographic transition
theory’.

15. =t ofa T wfauee fageT &1 Seoig d U, FIotardl qERT SR v Te7ee aTei-
T 3R T T | 5x1=5
Differentiate between Nomadic herding and commercial livestock rearing, stating any
five points of distinction.
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‘G’ o T Y € 2 AR A {2l TR qdeT ST 1 foveAuoT ity | 1+4=5

What is ‘tourism’ ? Analyse any four tourist attractions in the world.

“TIS SR AT &1 U HewdqUl Fs M A AR el €, S qar SR areedr fave, g9 o
foTT =R vaer §RT & 1 AT & 17 3T F b G T T AT Al I S e W
FHITT | 2%+ 2% =5
“The Suez and the Panama canals are two vital man-made navigation canals which serve

as gateways of commerce for both the eastern and western worlds.” In the light of this
statement explain the economic significance of these two canals.

IRA H g6l 3R &> & Jear & RO S-S F €, T HISU | Fed & TAERvig
TROTHT & IeeTE HIT | 2+3=5

Explain why the causes of male and female migration are different in India. Find out the
environmental consequences of migration.

“ AT AFGA’ AN SHOBRAAT ARA H B GG G § 17 5T FHESA % e h
foTT SUrT EEw 3K S S S | 2+3=5

“ “Erratic monsoon’ and ‘Indebtedness’ are the major problems of Indian agriculture.”
Suggest and explain the measures to overcome these problems.

TRT H Tgeh! o1 [0 THEY 1 Tel & 2 S0 Aied AR HifTy | 5x1=5

Why is the distribution of roads not uniform in India ? Explain with examples.

TR & T U qoiTaes Ta-aqMras 9 9= Smfeiss @ie1or A, B, C, D 3R E & gRT 91T 0

€ | 3T ST T A TS SAHBRT B el ¥ U Y A% el A1 37 e @i

g e W At 5x1=5
(A) TR H o8 HH -5 a1l 97

(B) wIoTaTH! UREROT TG &

(C) v TRt

(D) IR gaTe-ua

(E) @ f@er
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Five Geographical features shown on the given political outline map of the World as A,
B, C, D and E. Identify these features with the help of the information given below and
write their correct names on the lines marked near them :

(A) The country with lowest density of population in Asia.

(B) An area of nomadic herding.

(C) A major sea port.

(D) An Internatinal airport

(E) A megacity

e ; =TT Te hae gieaTtad wertedt & o ue 9@ 21 & ©H WE
(21.1) TR W GE9 HH SHEEAT gt <97 H A1 @y |
(21.2) 3TRIHT | ToTaTdl UTERYT & Hewaqul & 1 19 fefaw |
(21.3) 3T R [HHl Th TE FHRI-UT 1 AW foAf@n |
(21.4) TSieT & fohdt Ush STRIS T ag-a & 19 feAf@a |
(21.5) I & fopdt wek B et &1 AW fafEn |

Note : The following questions are for the Visually impaired candidates only in lieu of
Q.No.21:

(21.1) Name the country with smallest population in Asia.
(21.2) Name an important area.of normadic herding in Africa.
(21.3) Name any major seaportin North America.

(21.4) Name any one international airport of Brazil.

(21.5) Name any one mega city of Europe.

22. R % {00 TSHITAe W@-gHtes § HEtaiad o el suge et 9 fTar o 53w
A fefEe 5x1 =5
(i) HaiTe SH-a9 a1t T5F (2011) |

(i) T FT UHOT STHIEAT AT T |

(iii) TR - e 3TI%h WA & |
(iv) AT 5T § ot I HREFT |

(V) HISY Y {E1-AUSH & e |
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Locate and label the following on the given poltical outline map of India with
appropriate symbols.

(i)  The state having the highest density of population (2011).
(it)  The state with smallest rural population.

(iii) Mayurbhanj — an iron ore mining area.

(iv) An oil refinery in Karnataka state.

(v) The headquarter of South Central Railway Zone.

e ; FETArEd U9 hae gieaTad uhertedt & o ue 9@ 22 & ©H WE
(22.1) &% H I W TR T TGH TST T DI T § 9

(22.2) TS FHH UHIOT SHEE A6t A5 T A1 fAREw |

(22.3) TITHT TlE-37h &7 e ToF H Fere & 9

(22.4) TSI It YL HRGMT 769 T | feord € 2

(22.5) =Y TZA {A-HUSHA & A 1 AW fAr@u |

Note : The following questions are for the Visually impaired candidates only in lieu
of Q.No. 22 :

(22.1) Which is the largest state of India inrespect of area ?
(22.2) Name the state having smallest rural population.

(22.3) In which state is Mayurbhanj iron ore mining area located ?
(22.4) In which state is Mangaluru oil refinery located ?

(22.5) Name the headquarter of South Central Railway Zone.
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U . 21 % fow At
Map for Q. No. 21

06

DR U TR R R R 0 SR, A SO A e Y ABSRRE.
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TS E. 22 % fow aetes
Map for Q. No. 22
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